

$$w_{ij} = \frac{dz_i - dz_j}{z_i - z_j}$$

claim $\sum_{\text{cyclic}} w_{ij} \wedge w_{jk} = 0$

Test for $z_1 = z, z_2 = 1, z_3 = 0$:

$$w_{12} = \frac{dz}{z-1} \quad w_{31} = \frac{dz}{z} \quad w_{23} = 0$$

$$\frac{dz}{z-1} \wedge \frac{dz}{z} = 0.$$

Dream Turn the KI into algebra.

challenge: Pat Arnold's identity in the

spot light.

Is there a group with $\text{proj} = \Lambda^n \mathbb{C}$

$$ab = (ba)^{-1} \Rightarrow ab = a^{-1}b^{-1} \Rightarrow abba = 1$$

$$baab = 1$$

$$a^2 = b^{-2}$$

$$a^{-2} = b^2$$

Won't work if more than 3 generators.